Area and Perimeter of Trapeziums (A)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (A) Answers

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (B)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (B) Answers

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (C)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (C) Answers

Calculate the perimeter and area for each trapezium.

290 ¥

g
f? L1 97 km -1

—

4.3 km

5%
4
42

P=119km
A = 7.965 km?

g
4
Ne)
~
g
-~
0
a
P =129km
A = 9.435 km?
13.9 yd
)
Lo e
w2 S
Z 2 5
=2 : &
1
4.9 yd
P =61.3yd
A = 188 yd?

2.

2.6
g
: .
o (]
2.5 cm
P=97cm
A = 5.75 cm?
X
@»&
&=
o
o
- P I
&
Ll
o
Ll
4
P=5251t
A = 156 ft2
13.8 ft
)
v — ®
e = 2
= ‘ &
[l
9 ft
P=4781t
A = 136.8 ft2

Math-Drills.com




Area and Perimeter of Trapeziums (D)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (D) Answers

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (E)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (E) Answers

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (F)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (F) Answers

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (G)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (G) Answers

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (H)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (H) Answers

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (1)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (I) Answers

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (J)

Calculate the perimeter and area for each trapezium.
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Area and Perimeter of Trapeziums (J) Answers

Calculate the perimeter and area for each trapezium.
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